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Expand each logarithm.

(‘3‘-5

ICM

1) log (a- b) -“US'-'O\ " ‘Qj...b
Ty

3) log\s/; V*uu) %

O3}

o X

5) logs(a3-b) \LCL) J\ *O

- 104y L\
C’
.41\!&} vi
7) log (76‘\/_)- _ + 10

+

)

* .o
Y luu; v

= (pli ; fl-.\!'““"-ulc
9) log9(8-112\/_) (09,8 +103, 1" +og,5"
100, ‘8*"(&;0‘\‘ + /z’oc: e,

Condense each expression to a single logarxthm.
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[O d )ach to the earest thousandth.

Use a calculator to a
*Hint- Use Change of Base Formula*
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22) log, 32

24) log, 1.3
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Simplifying Exponential EXpressious —

Simplify. Your answer should contain only positive exponents with no fractional exponents in

the denominator.
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